
  

 

 

U.G. DEGREE EXAMINATION —  
DECEMBER 2023 

Bank Management 

Third Year 

INCOME TAX 

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions. 

All questions carry equal marks. 

1. Write a short note on ‘HUF’. 
 ]Ö SÔ¨¦ ÁøμP – ¤›UP£hõu C¢x Tmk 

Sk®£®. 

2. What are ‘Tax – Free perquisites’? 
 Á›°À»õ Buõ¯[PÒ GßÓõÀ GßÚ? 

3. Define clearly the term ‘Business’. 
 Â¯õ£õμ® Áøμ¯Ö. 

4. Explain the kinds of Capital Gains. 
 ‰»uÚ Buõ¯® ÁøPPÒ ¯õøÁ? 

5. Explain deduction U/S. 80E. 

 80E °ß PÈ¨¥kPÒ ¯õøÁ? 

 UG–C–2252 BBM–31X
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SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions. 

All questions carry equal marks. 

6. Explain the basic conditions to determine the 
residential status of an Individual. 

 J¸ Si©PÛß Ai¨£øh ÷Põm£õkPÒ ¯õøÁ? 

7. Explain the method of computing income from 
Business. 

 öuõÈÀ Á¸©õÚ® PnUQk® •øÓPÒ ¯õøÁ? 

8. Shri. Jayaraj owns property at Chennai 
(Municipal Value Rs. 1,60,000.  Fair Rent Rs. 
1,80,000, Standard Rent Rs. 1,50,000).  The House 
is Let out upto September 30.2022 (Monthly rent 
being Rs. 15,000), From October 1, 2022 the 
property is self occupied for own residential 
purpose.  Find out the gross annual value for the 
assessment year 2023-2024. 

 v¸. öá¯μõä Gß£Á›ß ö\ßøÚ Ãmk ©v¨¦ 
(|Pμõm]) ¹. 1,60,000.  {¯õ¯ ÁõhøP  
¹. 1,80,000, {ø»¯õÚ ÁõhøP ¹. 1,50,000.  Ãk 
ÁõhøPUS ö\¨h®£º 30.2022 Áøμ Âh£mhx 
(©õu ÁõhøP ¹. 15,000).  AU÷hõ£º 1.2022 AßÖ 
•uÀ ö\õ¢u £¯ß£õmiØS £¯ß£kzu¨£mhx.  
÷©ØPsh ÂÁμ[PøÍU öPõsk {Pμ Bsk 
©v¨ø£ PnUQhÄ®. 
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9. From the following details, ascertain the taxable 
Interest Income of Miss. Eniyasri for the previous 
year 2022-2023 Investment in Tax free 10% 
Debentures in X Ltd (unlisted) Rs. 1,40,000, 
Interest received on Debenture in Y Ltd (Listed) 
Rs. 45,000. 

 ¤ßÁ¸® ÂÁμ[PøÍU öPõsk v¸©v.  CÛ¯ÿ 
AÁºPÎß Á›US Em£mh Á¸©õÚzøu 
PnUQhÄ®.  •u½k Á›Âv¨¤ØS A¨£õº£mhx 
10% PhÜmk £zvμ® X Ltd. (£mi¯¼À 
Ch®ö£Óõux) Ámi ö£ØÓx PhÜmk £zvμzvß 
‰»® Y Ltd., ¹.45,000. (£mi¯¼À Ch® ö£ØÓx) 

10. Following details are available in respect of 
Income of Mr. Y for the PY 2022 – 2023. 

  Rs. 
(a) Long Term capital gain 2,10,000 
(b) Consolidation salary 1,00,000 
(c) Rent received from let out property 1,00,000 
(d) Dividend from an Indian company 50,000 

 Compute the total Income. 

¤ßÁ¸® ÂÁμ[PøÍU öPõsk •¢øu¯ Bsk 
2022&2023ß ö©õzu Á¸©õÚzøu PnUQhÄ®. 

  ¹&

(A) }shPõ» ‰»uÚ Buõ¯® 2,10,000 

(B) £o•øÓ Fv¯® 1,00,000 

(C) Ãmk ÁõhøP ÂmhvÀ Á¸©õÚ® 1,00,000 

(D) £[Põuõ¯® C¢v¯ {ÖÁÚzvh® 
ö£ØÓx 

50,000 
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SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions. 

All questions carry equal marks. 

11. List out the incomes which are exempted U/s 10 of 
the Income tax Act. 1961. 

 Á›Â»US ö£ØÓ Á¸©õÚ[PøÍ ÂÍUSP. 

12. What are the different categories of assessees 
according to their Residential status?  How is this 
status determined? 

 Á› ö\¾zxÁ›ß ÁøPPÒ ¯õøÁ?  AÁºPÎß 
Si°¸¨¦ {ø»ø¯ ÂÁõvUP. 

13. Details of an Employee’s salary. 
 Rs. 
Salary 40,000 
DA (Dearness allowances) 8,000 
CCA (City Compensatory allowances) 2,000 
MA (Medical allowance) 1,500 
Club bills paid by employer 4,000 
Professional tax paid by employer 1,500 
Employer’s contribution to RPF 6,000 
Interest on RPF at 10%  12,000 

 From the above details, find on whether their 
employee is a specified employee under (a) He is 
director in the company (b) He holds 25% share 
capital of the company. 
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J¸ £o¯õÍ›ß \®£Í ÂÁμ® ¤ßÁ¸©õÖ: 
 ¹.
\®£Í® 40,000 
APÂø»¨£i 8,000 
©¸zxÁ¨£i 1,500 
©õ|Pμõm] £i 2,000 
©Ú©QÌ©ßÓU Pmhn® 4,000 
öuõÈÀ ÁÇ[S|μõÀ ö\¾zu¨£k® öuõÈÀ 
Á› 

1,500 

£o¯õÍº ÷\©|» {v 6,000 
÷\©|» {v°ß ‰»® Ámiö£ØÓx  12,000 
 ÷©÷» EÒÍ ÂÁμ[PÎ¼¸¢x,  
 (A) AÁº {ÖÁÚzvÀ C¯US|μõP C¸UQÓõº  
 (B) AÁº {ÖÁÚzvß 25% £[S ‰»uÚzøu 
                øÁzv¸UQÓõº. 

14. Compute the Income from other sources of Miss. 
Anu from the following details furnished. 

 (a) She holds Rs. 50,000, 10% tax free Govt. 
securities. 

 (b) She received Rs. 10,000, Interest on Tamil 
Nadu State Govt. securities. 

 (c) She hold 1,00,000, 10% Tax Free debentures 
of P & R Co. Ltd. (Listed) 

 (d) Rs. 12,000 Interest was received by her on 
Tax free securities of a Ltd, company. 

 (e) Rs. 60,000, 15% debentures are hold by her 
in ltd. co. 

 (f) Rs. 8,000, Interest was received by her on 
securities of a paper mill company. (Listed) 
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 v¸©v Aq Gß£Á›ß Cuμ Á¸©õÚ[PøÍ 
PnUQhÄ®. 

 (A) Aμ_ £zvμ[PÎß «x Á¸©õÚ® ¹.50,000  
@ 10%. 

 (B) uªÌ|õk Aμ_ £zvμ[PÎß «x Ámi 
ö£ØÓx ¹.10,000. 

 (C) Á›°À»õ PhÜmk £zvμ[PÒ 10% 
¹.1,00,000. 

 (D) Á›°À»õ £zvμ® ¹.12,000 ö£Ó£mhx. 

 (E) 15% PhÜmk£zvμ® ¹.60,000. 
 (F) Ámi ö£ØÓx ¹.8,000 PõQu ªÀ £zvμzvß 

‰»® ö£Ó¨£mhx. 

15. Explain the provisions relating to exempted 
capital gains. 

 ‰»uÚ Á¸©õÚzvÀ Á›ÂvUP¨£hõu \μzxUPøÍ 
ÂÍUSP. 

16. Mr. Madhan who is totally handicapped provides 
you the following information.  Compute the 
taxable income for the assessment year 2023-2024. 

 Rs. 
Salary (Per Annum)  1,30,000 
Interest on Bank Saving A/c 15,000 
Interest on Govt. Securities 4,000 
Long Term Capital Gain 40,000 
Short-Term capital gain 10,000 
Winnings from Lotteries (Gross) 20,000 
Deposit in PPF 40,000 
NSC (VIII) purchased during the year 20,000 
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 v¸ ©uß Gß£Á›ß ¤ßÁ¸® ÂÁμ[PøÍU 
öPõsk Á›Âv¨¦ Á¸©õÚzøu PnUQkP.  

 ¹.

\®£Í® 1,30,000 

÷\ª¨¦ PnUS Ámi ö£ØÓx 15,000 

Aμ_ £zvμzvß ‰»® Ámi ö£ØÓx 4,000 

}shPõ» ‰»uÚ Buõ¯® 40,000 

SÖQ¯ Põ» ‰»uÚ Buõ¯® 10,000 

»õmh› ^mk Á¸©õÚ® 20,000 

•u½k ö\´ux (PPF) 40,000 

÷u]¯ ÷\ª¨¦ £zvμ® Áõ[Q¯x 20,000 

17. Mr. Prasad submits the following particulars of 
his business from which you calculate the Income 
from business, Net profit as per P/L a/c (after 
charging the following Rs. 1,25,000) 

 (a) Sales tax Rs. 20,000 and Income Tax 
Rs.55,000. 

 (b) Bad Debts Provision Rs. 3,000. 

 (c) Commission to procure business order  
Rs. 8,000. 

 (d) Interest on Capital Rs. 38,000. 

 (e) Depreciation Rs. 4,000 (but as per income 
tax rules Rs.2,000 only) 
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 v¸. ¤μ\õz Gß£Á›ß öuõÈÀ•øÓ Á¸©õÚzøu 
PnUQhÄ®.  ö©õzu »õ£® »õ£|mh 
PnUQ¼¸¢x ö£Ó£mhx ¹.1,25,000. 

  ¹.

(A) ÂØ£øÚ Á› ©ØÖ® 20,000

 Á¸©õÚ Á› 55,000

(B) ÁõμõUPhß JxURk 3,000

(C) PÈÄ ö£ØÓx (Â¯õ£õμ® ‰»®) 8,000

(D) ‰»uÚ Ámi 38,000

(E) ÷u´©õÚ® (Á¸©õÚ Á› 
\mhzvØS Em£mhx ¹. 2,000) 

4,000

 
  

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
DECEMBER 2023 

Bank Management 

Third Year 

COST ACCOUNTING 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions. 

All questions carry equal marks 

1. Define cost accounting. 
 AhUP Âø» PnUS – Áøμ¯Ö. 

2. What is a Bin card? 
 ¤ß Põm GßÓõÀ GßÚ? 

3. What is meant by overheads? 
 EØ£zv ÷©Øö\»ÄPÒ GßÓõÀ GßÚ? 

4. Which types of industries use operating costing? 
 C¯UP ö\»ÄPøÍ £¯ß£kzx® EØ£zv 

{ÖÁÚ[PÒ ¯õøÁ? 

5. What is P/V ratio? 
 C»õ£ ÂØ£øÚ ÂQu® GßÓõÀ GßÚ? 

 UG-C-2253 BBM-32X
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PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions.  

All questions carry equal marks 

6. What are the essentials of a good costing system? 

 J¸ |À» ö\»Ä Aø©¨¤ß CßÔ¯ø©¯õuøÁ 
¯õøÁ? 

7. From the following details, prepare closing stock 
by adopting FIFO method.  

December 1 Opening stock 1000 units @ Rs.2.00 each.

3 Purchased 800 units @ Rs. 2.10 each 

5 Issued 1200 units 

12 Purchased 1600 units @ Rs. 10 each 

 RÌPõq® ÂÁμ[PøÍ öPõsk FIFO •øÓ°À 
CÖv \μUQ¸¨ø£ PnUQhÄ®. 

 ö£ÖuÀ 
A»SPÒ 

Âø» 
¹. 

ÁÇ[SuÀ
A»SPÒ 

i\®£º 1 1,000 2.00 –

3 800 2.10 –

5 – – 1,200

12 1600 10.00 –
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8. Calculate the earnings of a worker under Halsey 
Plan 

 Time allowed – 48 hrs. Time taken – 40 hrs.  
Rate per hour – Re. 1. 

 Halsey •øÓ°ß Ai¨£øh°À J¸ öuõÈ»õÍº 
vÚ\› T¼ø¯ PnUQhÄ®. 

 ÷|μ® JxURk 48 ©o ÷|μ®, GkzxUöPõsh 
÷|μ® 40 ©o ÷|μ®, T¼ J¸ ©o ÷|μzvØS –  
¹. 1.00 

9. The following information relating to contract  
No : 198 

 Contract price   Rs. 12,00,000 

 Wages   Rs. 3,28,000 

 Plant    Rs. 40,000 

 Overhead   Rs. 17,200 

 Material   Rs. 2,40,000 

 As on date, cash received was Rs. 4,80,000, being 
80% of work certified. The value of material of site 
was Rs. 20,000. Depreciation plant by 10%. 
Prepare contract a/c. 

 RÌPsh J¨£¢u Gs : 108UPõÚ ÂÁμ[PøÍ 
öPõsk J¨£¢u PnUøP u¯õ›UPÄ®. 

 J¨£¢u ©v¨¦  ¹. 12,00,000 

 T¼    ¹. 3,28,000 

 uhÁõÍ®   ¹. 40,000 

 ÷©Øaö\»Ä  ¹. 17,200 

 ö£õ¸mPÒ   ¹. 2,40,000 
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 J¨£¢u ÷uv°À ¹. 4,80,000 ö£Ó¨£mhx, ÷©¾® 
80% ÷Áø» •iUP¨£mhx.  ö£õ¸mPÎß ©v¨¦ 
¹. 20,000, ÷u´©õÚ® – 10%. 

10. From the following data calculate 

` (a) P/V ratio  (b)  Profit 

 Sales Rs. 20,000. Fixed expenses Rs. 4,000 

 Breakeven point Rs. 10,000 

 RÌPsh ÂÁμ[PøÍ öPõsk PnUQkP. 

 (A) »õ£® ©v¨¦ ÂQu®  

 (B) »õ£® 

 ÂØ£øÚ ¹£õ´ 20,000, {ø»¯õÚ ö\»Ä  
¹. 4,000 »õ£ |mhªÀ»õ {ø»¨¦ÒÎ ¹. 10,000. 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions.  
All questions carry equal marks 

11. Explain the differences between management 
accounting and cost accounting. 

 ÷©»õsø© PnURkUS® AhUP PnUQ¯¾® 
EÒÍ ÷ÁÖ£õkPÒ ÂÁ›. 

12. From the following data given by the Personnel 
department. Calculate labour turnover rate 

 (a) separation method (b) replacement method and 
(c)  flux method. 
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 Total No. of employees at the beginning = 2,010 

 Total No. of employees at the end = 1,990 

 No. of employees resigned = 30 

 No of employees discharged = 50 

 No. of employees replaced = 40 

 ¤ßÁ¸® ÂÁμ[PøÍ öPõsk öuõÈ»õÍº v¸¨¦ 
ÂQuzøu PnUQhÄ®. 

 (A) ö\£÷μåß •øÓ 

 (B) ›÷£÷»ì •øÓ 

 (C) ¤»Uì •øÓ 

 Bμ®£ ö©õzu öuõÈ»õÍº GsoUøP = 2,010 

 CÖv öuõÈ»õÍº GsoUøP = 1,990 

 £o Âk¨¦ öuõÈ»õÍº GsoUøP = 30 

 öÁÎ÷¯Ô¯ öuõÈ»õÍº GsoUøP = 50 

 ©õØÓ¨£mh öuõÈ»õÍº GsoUøP  = 40  

13. Kannan Ltd has three production departments  
A, B and C and two service departments D and E. 
The following figures are extracted from the 
records of the company. 

 Rent and rates Rs. 10,000 

 Indirect wages Rs.23,000 

 Power Rs.3,000 

 Depreciation of machinery Rs.20,000 

 General lighting Rs. 1,200 
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 Following further details are available.  
 Total A B C D E 

Floor  

space 

in sq. ft. 

 
 

10,000 

 
 

2,000 

 
 

2,500 3,000 2,000 500

Light  

points 
 

60 
 

10 
 

15 20 10 5

Direct  

wages  

(Rs.) 

 
 

10,000 

 
 

3,000 

 
 

2,000 3,000 1,500 500

H.P. of  

Machines 
 

150 
 

60 
 

30 50 10 –

Value of   

Machinery  

(Rs.) 

 
 

2,50,000 

 
 

60,000 

 
 

80,000 1,00,000 5,000 5,000

 Psnß Gß£Á›ß {Ö©zvÀ A, B, C ‰ßÖ 

EØ£zv xøÓPÒ ©ØÖ® D, E Cμsk ÷\øÁ 

xøÓPøÍ öPõshx 

     ¹. 

 ÁõhøP ©ØÖ® Á›  10,000 

 ©øÓ•P ö\»Ä  23,000  

 ªß ö\»Ä   3,000 

 ÷u´©õÚ®   20,000 

 ö£õx ªßÂÍUS 1,200 



 UG-C-2253 7

 RÌPsh ÂÁμ[PÐ® EÒÍx.  
 A B C D E ö©õzu® 

Ch AÍÄ 2,000 2,500 3,000 2,000 500 10,000 
ªßÂÍUS 
GsoUøP 

 
10 

 
15 

 
20 10 5 60 

÷|º•P T¼ ¹. 3,000 2,000 3,000 1,500 500 10,000 
C¯¢vμ®  

(Hp) 
 

60 
 

30 
 

50 10 – 150 
C¯¢vμ®  
©v¨¦ ¹. 

 
60,000 

 
80,000 

 
1,00,000 5,000 5,000 2,50,000 

14. Prepare process a/c. 
 Process 
 X Y Z 

Direct material 5,000 10,000 5,000
Direct Wages 25,000 20,000 15,000
Direct Expenses 2,500 3,000 5,000

 Indirect expenses incurred are Rs. 30,000 which 
are to be apportioned to the process on the basis of 
direct wages. Raw material worth Rs. 30,000 were 
issued to X. 

£i•øÓ PnUøP u¯õ›UPÄ® 

 £i•øÓ 

 X Y Z 
Pm\õ 
ö£õ¸mPÒ 

 
5,000 

 
10,000 5,000

÷|μi T¼ 25,000 20,000 15,000
÷|μi  
ö\»ÄPÒ 

 
2,500 

 
3,000 5,000
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 ©øÓ•P ö\»ÄPÒ ¹. 30,000 ÷|μi Fv¯zvß 
Ai¨£øh°À ö\¯À•øÓUS £[Rk ö\´¯¨£h 
÷Ásk®. ‰»¨ö£õ¸Ò ¹. 30,000 X US 
ÁÇ[P¨£mhx. 

15. For two years sales are profit were as under 

 I Year II Year

Sales 20,000 10,000

Profit 1,000 400

 Find  

 (a)  P/V ratio 

 (b) Fixed cost 

 (c) BEP 

 (d) Profit when sales are Rs. 30,000 
 Cμsk BskPÐUPõÚ ÂØ£øÚ ©ØÖ® »õ£® 

R÷Ç öPõkUP¨£mkÒÍx. 

 •uÀ  
Bsk 

Cμshõ® Bsk

ÂØ£øÚ 20,000 10,000

»õ£® 1,000 400

 Psk¤i : 

 (A) »õ£ AÍÄ ÂQu® 

 (B) {ø»¯õÚ AhUP® 

 (C) »õ£ |mhªÀ»õ Âø»¨¦ÒÎ 

 (D) ÂØ£øÚ°ß ÷£õx »õ£® ¹. 30,000  
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16. A transport company is running 4 buses between 
two towns which are 50 kms apart seating 
capacity of each bus is 40 passengers. Expenses 
for April 2011 as follows 

    Rs. 

 Wages of driver   2,400 

 Tax and Insurance  1,600 

 Oil, Diesel   4,000 

 Interest    2,000 

 Repairs    800 

 Salary (supervisor)  1,000 

 Depreciation   2,600 

 Actual passengers carried were 75% of the seating 
capacity. All the four buses ran of all days of the 
month. Each bus made one trip per day. Find out 
cost per passenger km. 

 50 Q.« yμ•ÒÍ C¸ |Pμ[PÐUQøh÷¯ J¸ 
÷£õUSÁμzx {ÖÁÚ® |õßS ÷£¸¢xPøÍ C¯UQ 
Á¸QÓx. JÆöÁõ¸ ÷£¸¢xPÎ¾® 40 £¯oPÒ 
C¸UøP EÒÍx. RÌPsh ÂÁμ[PÒ H¨μÀ 2011 
GkUP¨£mhx. 

     ¹. 

 Kmk|º T¼    2,400 

 Á› ©ØÖ® Põ¨¥k   1,600 

 j\À Gsön´   4,000 

 Ámi     2,000 

 £Êx£õº¨¦    800 

 |hzxÚº \®£Í®   1,000 

 ÷u´©õÚ®    2,600 
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 C¸UøPPÎß GsoUøP°À 75% AÍÂØS 
£¯oPÒ HØÔaö\À»¨£mÚº, ©õuzvÀ GÀ»õ 
|õmPÐ® ÷£¸¢xPÒ C¯UP¨£mhÚ. JÆöÁõ¸ 
÷£¸¢x® J¸ |õÎÀ J¸ •øÓ ÷£õ´ v¸®¤ 
Á¢uÚ. 1 Q.« BS® £¯o AhUPÂø»ø¯ 
Psk¤i. 

17. Explain the limitations of cost accounting. 

 AhUPÂø» PnUQ¯¼ß SøÓ£õkPøÍ ÂÍUSP. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
DECEMBER, 2023. 

Bank Management 

Third Year 

CUSTOMER RELATIONS MANAGEMENT 

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words.  

All question carry equal marks. 

1. What is oral communication?  

 Áõ´ö©õÈ uPÁÀ•øÓ GßÓõÀ GßÚ? 

2. What is the significance of strategy in CRM? 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°À EÒÍ 
²Uv°ß ußø© Gß£x GßÚ? 

3. Explain service quality. 

 ÷\øÁ uμzvøÚ ÂÁ›.  

 UG–C–2255 BBM–34X
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4. Write a short note on customer day. 

 ÁõiUøP¯õÍº vÚ® £ØÔ SÔ¨¦ ÁøμP.  

5. Define Market segmentation 

 \¢øu £S¨¦ Gß£uß Áøμ¯Ö.   

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words.  

All question carry equal marks. 

6. Explain the different Non-verbal forms of 
communication. 

 ö\õÀ\õμõ uPÁÀ öuõhº¤ß £À÷ÁÖ ÁiÁ[PøÍ 
ÂÍUSP.  

7. Explain the importance of customer satisfaction. 

 ÁõiUøP¯õÍº v¸¨v¯Îzu¼ß •UQ¯zxÁzøu 
ÂÁ›.  

8. Explain the causes of failure of CRM. 

 ÁõiUøP¯õÍº öuõhº¦ ÷©»õsø© 
÷uõÀÂ²ØÓuØPõÚ Põμn[PøÍ ÂÁ›.  

9. Elaborate on the grievance Redressal procedure 
adopted by Banking Ombudsman. 

 Á[Q SøÓ wº¨£õÍμõÀ £¯ß£kzx® ¤μa\øÚ 
wºzuÀ ö\¯À•øÓø¯ ÂÍUSP.  
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10. Bring out the advantages of segmenting the 
market. 

 \¢øu £S¨£õ´Âß |ßø©PøÍ öÁÎUöPõnºP.  

SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

All question carry equal marks. 

11. Explain the merits and demerits of oral and 
written communication. 

 Áõ´ö©õÈ ©ØÖ® GÊzx ‰»©õÚ uPÁÀ 
•øÓ°ß |ßø©PÒ ©ØÖ® wø©PøÍ ÂÁ›.  

12. Explain the different categories of Customer 
Relationship. 

 ÁõiUøP¯õÍº öuõhº¤ß £À÷ÁÖ £SvPøÍ 
ÂÁ›.  

13. Discuss the special relationship between ‘Banker’ 
and ‘Customer’. 

 Á[Q¯º ©ØÖ® ÁõiUøP¯õÍº Cøh÷¯¯õÚ 
]Ó¨¦ öuõhº¤øÚ ÂÁ›.  

14. Explain Talwar and Goiporia committee report. 

 uÀÁõº ©ØÖ® ÷Põ´ö£õ›¯õ SÊÂß 
AÔUøPPøÍ ÂÍUSP. 
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15. What is Marketing Research? Explain the 
objectives of Marketing Research. 

 \¢øu°¯À B´Ä GßÓõÀ GßÚ? \¢øu°¯À 
B´Âß ÷|õUP[PøÍ ÂÁ›.  

16. Explain the composition of the organisation for 
quality circle. 

 uμ _ÇØ]°ß Aø©¨¤À Ah[Q²ÒÍ TÖPøÍ 
ÂÁ›.  

17. Explain the various factors determines market 
segmentation. 

 \¢øu¨£S¨¤øÚ {ºn°¨£uØPõÚ £À÷ÁÖ 
PõμoPøÍ ÂÁ›.  

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
DECEMBER, 2023. 
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Third Year 

TREASURY MANAGEMENT 

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All question carry equal marks. 

1. Write the four elements of Risk Management.  

 Chº£õmk ÷©»õsø©°ß |õßS TÖPøÍ 
GÊxP.  

2. Write short note on Capital at Risk. 

 ‰»uÚ Chº£õk £ØÔ ]Ö SÔ¨¦ GÊxP.  

3. What is mean by Surplus Cash? 

 E£› öμõUP® Gß£uß ö£õ¸Ò GßÚ? 
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4. What is Commercial Paper? 
 Â¯õ£õμzuõÒ GßÓõÀ GßÚ? 

5. What is foreign Currency Account? 
 öÁÎ|õmk ö\»ÁõÛ GßÓõÀ GßÚ? 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All question carry equal marks. 

6. Write a note on the role of Three Treasury 
Department. 

 P¸Å» ÷©»õsø©°ß xøÓ°ß ‰ßÖ £[QøÚ 
GÊxP.  

7. What are the advantages of CRR? 

 CRR &ß |ßø©PÒ ¯õøÁ? 

8. List out the important role of Market Players. 
 \¢øu C¯US£Á›ß •UQ¯ £[QøÚ 

ÁøP¨£kzxP.  

9. What are the merits and demerits of Government 
Securities? 

 Aμ_ ¤øn¯[PÎß |ßø©PÒ ©ØÖ® wø©PÒ 
¯õøÁ? 

10. State the role of Regulatory functions. 
 •øÓ£kzxu¼ß ö\¯À£õmiß £[øPU TÖP.  
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SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words.  

All question carry equal marks. 

11. Explain about the concepts and objectives of ALM. 

 ALM&ß P¸zx ©ØÖ® ÷|õUP[PøÍ ÂÍUSP. 

12. Explain the characteristics of Money Market? 
 £na\¢øu°ß ]Ó¨¦ C¯À¦PøÍ ÂÁ›. 

13. Discuss the purpose of CRR and SLR? 

 CRR ©ØÖ® SLR&Cß ö\¯À ÷|õUPzøu ÂÁõv. 

14. Write a note on Call Money Banks and Specified 
Institutions. 

 AøÇ¨¦ £n® Á[Q°ß •UQ¯ {ø»¯[PøÍ 
ÂÍUSP.  

15. What are the scope and objectives of Foreign 
Currency Market? 

 öÁÎ|õmk £na\¢øu°ß ÷|õUP® ©ØÖ® 
SÔU÷PõÒPÒ ¯õøÁ? 

16. Explain the concept of treasury management. 
 P¸Å» ÷©»õsø© P¸zxPøÍ ÂÍUSP. 

17. Examine the sources of Surplus Cash. 
 E£› öμõUPzvØPõÚ ‰»õuõμ[PøÍ Bμõ´P.  

—––––––––– 


